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M MEEH L THat2el
el SR MAE 2tel
SA - ZE-B(EN) - NRAY - B S il &t o il
BCI =g = 500,000& = 15CH 7,500
ExEFAXT 500,000& = 11CH 5,500
ExE2ssdsxt 400,000 »3CH 1,200
E+E0ls=ClXt 250,000& »2H 500
OF= =D PR == 5,150
sSEU=sHE 150,000 = 1CH 150
Se8s58 150, 000& »2CH 300
IF=EUE 400,000 104 400
I=ESE 160, 000& »7CH 1,120
BCI == Fag=! 150,000 »8CH 1,200
ExEFAXT 360, 000& *3CH 1,080
ExE5dXt 250, 0002 »2CH 500
ExE0ls=ClXt 400,000& = 1CH 400
OXts X2l dl 91,200
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SEU=EHE 800,000& »2CH 1,600
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I=ESE 1,500, 000& =8CH 12,000
BCI === Fag=! 1,000,000& = 15CH 15,000
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ExE2ssddxt 2,000,000 »3CH 6,000
ExE0s=clXt 2,500,000 »2CH 5,000
OXs i =l 246,723
SEUWE(2LSR) 1,538.643*3,5004 =2CH 10,771
SEZTEH(HI) 75% *1,400kwh*2CH 210
SSIE (LK) 1,538.64& x8504 =124 15,695
SEZE(HD) 75@ *1,200kwh1CH 90
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S22 (ER)
1,336.34& 2,200 =304 8,820
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158,000, 0003 = 1CH 158,000
- SIE2EY S2ELE 20,000,000 »2CH 40,000
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T Hl 4,264,691
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AlHI 2,100,000
T Hl 3,400,000
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O4 -ot=&& 18,520
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MOIESEHMAIS A 200,000& x12& 2,400
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SXE 110,000& =128 1,320
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48,000 »2H 13| 96
O &8H &4 1,000, 000& *23] 2,000
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OFJ|ItEEA=2 Y| (=22, H1gR)
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AR =& 500
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0B A ER2RJAL A= 35,694
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SM: HPD
M HH2IZH(HR)
Sl ol ) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ol 2AH| 227,354 24,889 202,465
101 @14 Hl 227,354 24,889 202,465
02 JIEt A 2+ 31,193 24,889 6,304
Os4la netA 31,193
lZs 45,527,000 *45%*35/40 Al 2t 17,927
CIIESE 80,000& 128 960
SR
1,493,920 x40 Al 2+ /35A1 2+ x84%*5%+ 12 & 861
ESE=3=E]| 125,000 *35/40A1 2t x12& 1,313
Mz AlH| 130,000& = 12& 1,560
24y
2,117,200% #55%*1/209%1.5%30 Al 2+ x 12& 3,009
- DS Al 1,493,920 *84%+*86%*1/30x9 324
0= 2,661,000 2,661
JlaRY BEe 25,774,000 x10% 2,578
03 RIHAZ 22 196, 161 0 196, 161
OFAE A 2tel 196, 161
Jlez2sess) 2,085,660 «6H «12& 150,168
Sl =) 2,880
- s 40,0003 x6H =122 2,880
=cl = 4| 19,372
- A gAlY| 130,000& x6ZH «12& 9,360
- 22 F 0t
JI2= 2,085,660 x6H x40%*23| 10,012
T2+ 23,741
-ARI2RE
S AZ 2,423,280 *1/226 Al 24 x150%x*2 16,020
Al 2b%2H %249
- ANRTENLY
SAUZ 2,423,280 *1/226 Al 2t *8Al 2H+6 7,721
Hx15
Heas(HM2) 4,159 3,814 345
E8XE 4,159 3,814 345
el 3 Ol Ataks 4,159 3,814 345
311 X+ S0l At &f 4,159 3,814 345
02 S3t=a 82X 30| AH&H& 4,159 3,814 345
OF 21 gAY S &&0IX
2,000,000, 000& *2.53%*30/365 4,159




